
�опDоEO 6оEп8т4=8O 6 E8Eте<е 
доHколP=о7о о5D47о64=8O 
А=4л87 Eо6Dе<е==OE те=де=F89 

�D878к &4тPO=4 �64=о6=4, 

к4=д8д4т п5д47о78G5Eк8E =4ук, 
7л46=K9 D5д4ктоD 6уD=4ло6 «�оHколL=о5 6оEп8т4=85, « 555=ок  6 д5тEко< E4ду», 
Gл5= ЭкEп5Dт=о7о Eо65т4 Ко<8т5т4 о5D47о64=8O 8 =4ук8 �оEуд4DEт65==о9 �у<K  Ф 



�оEп8т4=8е – Qто& 

«�оEп8т4=8е» 6 H8Dоко< EоF84лP=о< E<OEле 
— Mто п5D5д4G4 =4копл5==о7о опKт4 от Eт4DH8E 
покол5=89 к <л4дH8<. �D8 Mто< под «опKто<» 
по=8<4Nт 7=4=8O, у<5=8O, =46Kк8, EпоEо5K 
<KHл5=8O, =D46Eт65==K5, MEт5т8G5Eк85 8 
пD46о6K5 =оD<K — т.5. 6ET дуEо6=о5 =4Eл5д85 
G5ло65G5Eт64. �5D5д4G59 опKт4 74=8<4NтEO =5 
толLко п5д47о78, =о 8 E5<LO, ED5дEт64 <4EEо6о9 
8=DоD<4F88, л8т5D4туD4, 8EкуEEт6о, тDудо6K5 
колл5кт86K, оD74=K пD46опоDOдк4, поMто<у 
H8Dоко5 по=Oт85 6оEп8т4=8O =у6д45тEO 6 
Eу65=88 8 ко=кD5т874F88. 



�оEп8т4=8е – Qто& 

� у7ко< EоF84лP=о< E<OEле 6оEп8т4=8е — 

Mто =4пD46л5==о5 6о7д59Eт685 

=4 G5ло65к4 Eо EтоDо=K о5I5Eт65==KE 
8=Eт8туто6 E F5лLN DоD<8Dо64=8O 

опD5д5л5==KE 7=4=89, 677лOдо6 8 
у556д5=89, =D46Eт65==KE F5==оEт59, 
пол8т8G5Eко9 оD85=т4F88, под7ото6к8 к 
687=8. 
 



�оEп8т4=8е – Qто& 

� H8Dоко< пед47о78чеEко< E<OEле 6оEп8т4=8е — 
Mто Eп5F84лL=о оD74=87о64==о5, F5л5=4пD46л5==о5 8 
упD46лO5<о5 6о7д59Eт685 колл5кт864 8 6оEп8т4т5л59 
=4 6оEп8ту5<о7о E F5лLN DоD<8Dо64=8O у =57о 
74д4==KE к4G5Eт6, оEуI5Eт6лO5<о5 6 уG55=о-
6оEп8т4т5лL=KE уGD56д5=8OE 8 оE64тK64NI55 65EL 
уG55=о-6оEп8т4т5лL=K9 пDоF5EE.  
� у7ко< пед47о78чеEко< E<OEле 6оEп8т4=8е — Mто 
пDоF5EE 8 D57улLт4т 6оEп8т4т5лL=о9 D45отK, 
=4пD46л5==о9 =4 D5H5=85 ко=кD5т=KE 
6оEп8т4т5лL=KE 74д4G, =4пD8<5D, 7о6оDOт о 
«D878G5Eко< 6оEп8т4=88», «=D46Eт65==о< 
6оEп8т4=88» к4к EоEт46=KE G4EтOE F5лоEт=о7о 
6оEп8т4т5лL=о7о пDоF5EE4 (И.�.�одл4EK9). 



�оEп8т4=8е – Qто& 

�о=Oт85 «6оEп8т4=85» 74клNG45т 6 E555 F5лK9 Eп5ктD п5д47о78G5Eк8E 

т5D<8=о6, ED5д8 котоDKE оEо5о от<5т8< G5тKD5: Eта=о6ле=8е, фоD<8Dо6а=8е, 

Eа<о6оEп8та=8е 8 пеDе6оEп8та=8е л8G=оEт8. 

 ►Ст4=о6ле=8е л8ч=оEт8 — =5котоDо5 уEло6=о5 доEт865=85 D555=ко< 

т4ко7о уDо6=O D4768т8O, ко7д4 о= EпоEо55= E4<оEтоOт5лL=о 68тL 6 о5I5Eт65, 

D4EпоDO64тLEO E6о59 EудL5о9, оEо7=464тL E55O 8 E6о8 от=оH5=8O E <8Dо<, 

пDо876од8тL F5==оEт=K9 6K5оD (�.�.ЩуDко64). 

 ►ФоD<8Dо64=8е л8ч=оEт8 — Mто пDоF5EE 87<5=5=8O л8G=оEт8 6 Eод5 55 

6748<од59Eт68O E D54лL=о9 д59Eт68т5лL=оEтLN; поO6л5=85 D878G5Eк8E 8  

EоF84лL=о-пE8Eоло78G5Eк8E =о6оо5D47о64=89 6 EтDуктуD5 л8G=оEт8, 87<5=5=85 

55 6=5H=8E пDоO6л5=89; Mто откл8к =4 6оEп8т4=85 (�.�.ЩуDко64).  



►С4<о6оEп8т4=8е - Eо7=4т5лL=4O 8 F5л5=4пD46л5==4O д5Oт5лL=оEтL 
G5ло65к4 по DоD<8Dо64=8N 8 Eо65DH5=Eт6о64=8N у E55O 
поло68т5лL=KE 8 уEтD4=5=8N отD8F4т5лL=KE к4G5Eт6. �л46=K< уEло685< 
E4<о6оEп8т4=8O O6лO5тEO =4л8G85 8Eт8==о7о 7=4=8O о E555, пD468лL=о9 
E4<ооF5=к8, E4<оEо7=4=8O, G5тко оEо7=4==KE F5л59, 8д54ло6, 
л8G=оEт=KE E<KEло6 (�.�.Код64Eп8Dо64). «!4<о6оEп8т4=85» 
подGTDк8645т, Gто 6G5D4H=89 6оEп8т4==8к т5п5DL E4< Eоот=оE8т 
EоF84лL=о-кулLтуD=K9 о5D475F E Eо5Eт65==K< по65д5=85<. О= E57од=O 
M<4=E8п8Dо64лEO от 67DоEлKE 8 E6о5 «Я» пD56D4т8л 6 о5J5кт 
Eо5Eт65==о7о 6оEпD8Oт8O 8 пDоду<4==о7о 6о7д59Eт68O (�.�.ЩуDко64).  

►ПеDе6оEп8т4=8е — E8Eт5<4 F5л5=4пD46л5==KE 6о7д59Eт689 =4 
Eо7=4=85, Gу6Eт64, 6олN 8 по65д5=85 6оEп8т4==8к4, 8<5NI57о 
=D46Eт65==K5 8 пD46о6K5 откло=5=8O, E F5лLN уEтD4=5=8O 8E 
4=т8EоF84лL=о9 =4пD46л5==оEт8 8 6о76D4I5=8O к пD8=OтK< 6 о5I5Eт65 
EоF84лL=K< =оD<4<. �5D56оEп8т4=85 оD74=87у5тEO к4к пDоF5EE 
6748<од59Eт68O 6оEп8т4т5лO 8 D555=к4. К.�. УH8=Eк89 п8E4л, Gто луGH5 
6E57о дуD=K5 пD86KGк8 8EкоD5=ONтEO DоD<8Dо64=85< до5DKE 
пD86KG5к, котоDK5 Eт4=ут 74<5=о9 дуD=KE. А.!. �4к4D5=ко, D45от46H89 
E д5тL<8 тO65ло9 EудL5K 8 E5DL57=KE EоF84лL=KE откло=5=89, 
ут65D6д4л, Gто лN5о7о D555=к4 <о6=о 6оEп8т4тL, 5Eл8 по<5Eт8тL 57о 6 
=оD<4лL=K5 G5ло65G5Eк85 уEло68O. 



ОEо5е==оEт8 6оEп8т4=8O  
E тоGк8 7Dе=8O кулPтуDO, 4=тDополо78GеEк8E =4ук 8  
пDоDеEE8о=4лP=о-пед47о78GеEко9 деOтелP=оEт8 

 С точк8 7Dе=8O кулPтуDO, 6оEп8т4=85 — Mто 8 Mл5<5=т 
G5ло65G5Eко9 кулLтуDK, 8 E4< пDоF5EE уE6о5=8O кулLтуDK.  

 С точк8 7Dе=8O D8лоEоD88, 6оEп8т4=85 — пDоF5EE 
6748<од59Eт68O од=о7о покол5=8O E дDу78<, п5D5д4G4 
MEт4D5тK.  

 С точк8 7Dе=8O пE8Eоло788, 6оEп8т4=85 — пDоF5EE 
F5л5=4пD46л5==о7о D4768т8O EпоEо5=оEт59 G5ло65к4, 
по<о74NI8E 5<у 6748<од59Eт6о64тL E <8Dо<.  

 С точк8 7Dе=8O EоF84лP=о9, 6оEп8т4=85 — Mто 
под7ото6к4 подD4Eт4NI8E покол5=89 к 687=8 6 о5I5Eт65 
G5D57 7оEуд4DEт65==K5 EтDуктуDK, ко=тDол8Dу5<K5 
о5I5Eт6о<. 



ОEо5е==оEт8 6оEп8т4=8O  

 С точк8 7Dе=8O пDоDеEE8о=4лP=о-пед47о78чеEко9, 

6оEп8т4=85 — F5л5=4пD46л5==4O Eод5D64т5лL=4O 
пDоD5EE8о=4лL=4O д5Oт5лL=оEтL п5д47о74, Eод59Eт6уNI4O 
<4кE8<4лL=о<у D4768т8N л8G=оEт8 D555=к4, 57о 6Eо6д5=8N 
6 ко=т5кEт Eо6D5<5==о9 кулLтуDK, Eт4=о6л5=8N 57о к4к 
Eу5J5кт4 8 EтD4т574 Eо5Eт65==о9 687=8, доEто9=о9 Ч5ло65к4.  

 

 

 

 

 

 

�оEп8т4т5лL=4O д5Oт5лL=оEтL оп8D45тEO =4 
=4уG=уN к4Dт8=у <8D4 8 дуEо6=о-=D46Eт65==K5 

F5==оEт8 



Це=тD4лP=Oе по=Oт8O 

(л8G=оEтP) 
Ц5=тD4лL=K<8 по=Oт8O<8 6оEп8т4т5лL=о9 д5Oт5лL=оEт8 п5д47о74 O6лONтEO 
по=Oт8O: л8G=оEтL, EDеда, деятелL=оEтL, от=оHе=8я.  
�5д47о7у =5о5Eод8<о 8<5тL G5тко5 пD5дEт46л5=85 о EтDуктуDе л8G=оEт8. 
!тDуктуD4 л8G=оEт8 (по �.А. Л5о=тL56у) 6клNG45т 4 7DуппO ко<по=е=то6: 

  

6=еH=OO о5олоGк4 л8G=оEт8 (т5<п5D4<5=т, E4D4кт5D, EпоEо5=оEт8);  
 

6=утDе==89 <8D л8G=оEт8, 8л8 5T F5==оEт=о-E<KEло64O ED5D4 (F5==оEт8, 
687=5==K5 E<KEлK, 8д54лK 8 F5л8, <от86K, кD8т5D88 оF5=к8);  
 

DоD<O, EпоEо5O E4<оDе4л874F88 л8G=оEт8 (E6о5од4 — =5E6о5од4, 
дуEо6=оEтL — 557дуEо6=оEтL, от65тEт65==оEтL — поEтоDо==оEтL, кD54т86=оEтL — 
D5пDодукF8O);  
 

Я-ко=FепF8O, E4<оEо7=4=8е л8G=оEт8: 

• уDо6=8 Я: Я-D54лL=о5, Я-8д54лL=о5, Я-7л474<8 дDу78E;  
• 7Dа=8 Я: D878G5Eк4O, пE8Eоло78G5Eк4O, 8=т5лл5кту4лL=4O, дуEо6=4O, 

=D46Eт65==4O, MEт5т8G5Eк4O, тDудо64O, EоF84лL=4O. 



Це=тD4лP=Oе по=Oт8O 

(EDед4) 
� пDоF5EE5 6оEп8т4=8O п5д47о7 дол65= уG8тK64тL 
6л8O=85 EDедо6OE D4ктоDо6, 4 т4к65 G5тко 
пD5дEт46лOтL E555 <5Eто 8 DолL 6оEп8т4=8O 6 
пDоF5EE5 EоF84л874F88 D555=к4. Ф4ктоDK 
окDу64NI59 EDедO, 6л8ONI85 =4 Eт4=о6л5=85 
л8G=оEт8, - Mто E4<4 пD8Dод4 8 D4ктоDK 
EоF84л874F88. 

!Dед4 Eт4=о68тEO D4ктоDо< D4768т8O л8G=оEт8 
толPко пD8 уEло688 4кт86=о7о 6748<оде9Eт68O E =е9 



Це=тD4лP=Oе по=Oт8O 
(деOтелP=оEтP, от=оHе=8O) 

�еOтелP=оEтP — 4кт86=4O DоD<4 от=оH5=8O 
Eу5J5кт4 к о5J5кту; 4кт86=оEтL л8G=оEт8 по 
пD5о5D47о64=8N окDу64NI57о <8D4 8 E4<о7о 
E55O. �8дK д5Oт5лL=оEт8: 87D4, тDуд, уG5=85 
8<5Nт пD5д<5т=K9 D57улLт4т, 4 о5I5=85 <о65т 
57о =5 8<5тL.  
От=оHе=8O. �56л8G=оEт=K5 от=оH5=8O — Mто 
Eу5J5кт86=о п5D568645<K5 6748<оE6O78 <56ду 
лNдL<8 6 7Dупп4E 8 колл5кт864E, о5J5кт86=о 
пDоO6лONI85EO 6 E4D4кт5D5 8 EпоEо54E 
6748<од59Eт68O 8 6748<=о7о 6л8O=8O 6 
пDоF5EE5 Eо6<5Eт=о9 687=5д5Oт5лL=оEт8. 



�D87=4к8 6оEп8т4=8O 

 47=K5 46тоDK 6Kд5лONт D47=K9 EоEт46 пD87=4ко6 
6оEп8т4=8O. �Kд5л8< 4 оE=о6=KE:  
1) FелеEоо5D47=оEтP, то 5EтL =4л8G85 (6 к4G5Eт65 F5л8) 

о5D47F4 к4к EоF84лL=о-кулLтуD=о7о оD85=т8D4;  
2) кулPтуDоEоо5D47=оEтP, то 5EтL Eоот65тEт685 пDоF5EE4 

6оEп8т4=8O EоF84лL=о-кулLтуD=K< F5==оEтO< к4к 
6KEH8< доEт865=8O< 8EтоD8G5Eко7о D4768т8O 
G5ло65G5Eт64;  

3) E8Eте<=оEтP, то 5EтL пD8EутEт685 опD5д5л5==о9 
E8Eт5<K оD74=87у5<KE 6л8O=89, 8E 
6748<о7468E8<оEтL;  

4) кDе4т86=оEтP, то 5EтL =4F5л5==оEтL =4 т6оDG5Eко5, 
8==о64F8о==о5, =5Eт4=д4Dт=о5 D4768т85 л8G=оEт8. 



КD8теD88 6оEп8т4==оEт8 

� пDоF5EE5 6оEп8т4=8O 5олLHо5 7=4G5=85 8<5Nт 
кD8т5D88 6оEп8т4==оEт8 D555=к4.  
�оEп8т4==оEтP — Mто Eт5п5=L Eоот65тEт68O 
л8G=оEт=о7о D4768т8O D555=к4 поEт46л5==о9 
п5д47о74<8 F5л8, 7д5 F5лL 6KEтуп45т =5котоDK< 
о5I8< <5D8ло<, по76олONI8< Eуд8тL о Eт5п5=8 
п5д47о78G5Eко7о уEп5E4 (�.И.�8дк4E8EтK9).  

�Eл8 по65д5=85 D555=к4 от65G45т пD8=F8пу �о5D4, 
5Eл8 D4768т 57о 8=т5лл5кт 8 о= EпоEо55= пD87=4тL 
о5J5кт86=уN ИEт8=у, 5Eл8 D555=ок 6оEпD8=8<45т 
КD4Eоту 8 Eо78д45т 55, то <K 6пD465 7о6оD8тL о 
6оEп8т4==оEт8 D555=к4, по76олONI59 5<у 68тL 6 
ко=т5кEт5 Eо6D5<5==о9 кулLтуDK.  



КD8теD88 6оEп8т4==оEт8 

Пок474тел8 6оEп8т4==оEт8, котоDOе доEтуп=O 
=45лNде=8N пед47о74 (�.И. �8дк4E8EтK9) :  

6=5H=89 68д,  
 <8<8G5Eк89 8 пл4Eт8G5Eк89 о5D47,  
 D5GL 8 <KHл5=85,  
 по65д5=85 8 д8EF8пл8=4,  
 D54кF88 =4 EоF84лL=K5 O6л5=8O,  
 от65тEт65==оEтL 8 4кт86=оEтL,  
 E8Eт5<4 от=оH5=89 E окDу64NI8<8 лNдL<8,  
 к4G5Eт65==оEтL пD5д<5т=о9 д5Oт5лL=оEт8, 6клNG4O 

Eт5п5=L кD54т86=оEт8,  
 8д54лK.  

 



!тDуктуD4 6оEп8т4=8O 
! тоGк8 7Dе=8O E8Eте<=о7о подEод4, 6оEп8т4=8е (к4к пед47о78GеEкое 

O6ле=8е 8 68д пDоDеEE8о=4лP=о9 деOтелP=оEт8) O6лOетEO D47=о68д=оEтPN 

пед47о78GеEко9 E8Eте<O, котоD4O EоEто8т 87 2 5локо6 

1. &еоDет8GеEк89 (8л8 
ко=Fепту4лP=O9) 5лок: 

 - F5==оEт8 6оEп8т4=8O; 
 - F5л8 8 74д4G8 6оEп8т4=8O; 
 - пD8=F8пK 6оEп8т4=8O; 
 - Eу5J5ктK 8 8E от=оH5=8O; 
 - Eод5D64=85 6оEп8т4=8O; 
 - <от86K д5Oт5лL=оEт8 
67DоEло7о 8 D555=к4. 

2.&еE=оло78GеEк89 (8л8 
пD4кт8GеEк89) 5лок: 
 - DоD<K 8 уEло68O 
6оEп8т4=8O; 
 - ED5дEт64 6оEп8т4=8O; 
 - <5тодK 8 пD85<K 
6оEп8т4=8O; 
 - ко=тDолL п5д47о74 8 
E4<око=тDолL D555=к4; 
 - оF5=к4 п5д47о74 8 
E4<ооF5=к4 D555=к4; 
 - D57улLт4тK 6оEп8т4=8O (по 
кD8т5D8O< 6оEп8т4==оEт8). 



Це==оEт8 6оEп8т4=8O 

Це==оEт8 - Eп5F8D8G5Eк8 EоF84лL=K5 опD5д5л5=8O о5J5кто6 
окDу64NI57о <8D4, 6KO6лONI85 8E поло68т5лL=о5 8л8 
отD8F4т5лL=о5 7=4G5=85 длO  
G5ло65к4 8 о5I5Eт64 (5л47о, до5Dо 8 7ло, пD5кD4E=о5 8 
557о5D47=о5) 74клNG5==K5 6 O6л5=8OE о5I5Eт65==о9 687=8 8 
пD8DодK. Ц5==оEт8 6KEтуп4Nт т4к65 к4к DоD<K о5I5Eт65==о7о 
Eо7=4=8O (=4пD8<5D, EпD465дл86оEтL 8л8 =5EпD465дл86оEтL), 
котоDK5 =5 толLко оп8EK64Nт O6л5=8O, =о 8 д4Nт 8< оF5=ку, 
одо5DONт 8л8 оEу6д4Nт, тD55уNт 8E оEуI5Eт6л5=8O 8л8 
уEтD4=5=8O, то 5EтL O6лONтEO =оD<4т864<8. («Ф8лоEофEк89 Eло6аDL» 
(М., 1987. - С.534) 
 

 

' к46до7о =4Dод4 еEтP E6о8 =4F8о=4лP=Oе Fе==оEт8, тD4д8F88, 
отD464NI8еEO 6 кулPтуDе 8 6оплоI4NI8еEO 6 пDоFеEEе 6оEп8т4=8O 

подD4Eт4NI8E поколе=89 



�DедEт46ле=8O о E8Eте<4E  
(кл4EE8D8к4F8OE) Fе==оEте9. 

 уEEк89 D8лоEоD �л4д8<8D !оло6Pе6, 
подG5Dк864O 85D4DE8G5Eк89 E4D4кт5D 
F5==оEт59, EуI5Eт6уNI8E 6 оE=о6=KE о5л4EтOE 
G5ло65G5Eко9 687=8 (дуEо6=K5, 
8=т5лл5кту4лL=K5, EоF84лL=K5), 6Kд5лOл 
Eл5дуNI85 F5==оEт8:  
 

 

 

 

  

 

*дуE, дуEо6=оEтP, 
дуEо6=ое 68де=8е 
<8D4;  
*7D46д4=Eт6е==оEтP;  
*до5Dо;  

*E6о5од4; 
*кулPтуD4; 
*7=4=8е 8 =4ук4;  
*8EкуEEт6о;  
*Dел878O. 
 



Ак4д5<8к �8кол49 �<8тD8е68G �8к4=дDо6 
6Kд5лO5т Eл5дуNI85 Fе==оEт8 6оEп8т4=8O:  

1) 687=L, 7доDо6L5, пD8Dод4;  
2) лN5о6L 8 E5<LO;  
3) о5D47о64=85, кулLтуD4, доEу7;  
4) тDуд, к4DL5D4, Eо5Eт65==оEтL;  
5) 8д5оло78O; 6 к4G5Eт65 =4F8о=4лL=о9 8д58 
пD5дл4745тEO тD84д4: «дуEо6=оEтL — 
д5D646=оEтL — =4Dод=оEтL». 
�.А.К4D4ко6Eк89, Л.�.�о68ко64, 
�.Л.!ел864=о64 6Kд5лONт Eл5дуNI85 
Fе==оEт8 ( 8 Eоот65тEт6уNI85 8< F5л8) 
6оEп8т4=8O: Gело6ек, Eе<PO, тDуд, 7=4=8O, 
кулPтуD4, ОтеGеEт6о, �е<лO, <8D.  



Цел8 6оEп8т4=8O 

 47л8G4Nт 8д54лL=K5 (45EтD4кт=K5, о5I85) F5л8 6оEп8т4=8O 8 D54лL=K5 

(ко=кD5т=K5, G4Eт=K5) F5л8 6оEп8т4=8O. 
 К 8де4лP=O< FелO< от=оEOт Eл5дуNI85: 6E5EтоDо==55 D4768т85 

л8G=оEт8; DоD<8Dо64=85 74D<о=8G5Eк8 D4768то9 л8G=оEт8, 7ото6о9 8 

EпоEо5=о9 6Kпол=OтL E8Eт5<у EоF84лL=KE Dол59; 6оEп8т4=85 G5ло65к4 

кулLтуDK; Eод59Eт685 D4768т8N G5ло65к4 к4к л8G=оEт8. 
  е4лP=Oе Fел8, 6KEтуп4NI85 6 68д5 74д4G 6оEп8т4=8O, <о6=о 

о5J5д8=8тL 6 3 7DуппK:  
 

1) 74д4G8, =4пD46л5==K5 =4 EоF84л874F8N л8G=оEт8,  оE6о5=85 
кулLтуDK;  
2) 74д4G8 по 6=утD5==5<у D4768т8N ко=кD5т=о9 л8G=оEт8, 55 
8=д868ду4лL=оEт8;  
3) 74д4G8, к4E4NI85EO ED5дEт6 8 EпоEо5о6 6оEп8т4=8O. 



�оD<4т86=о-пD46о6о9 4Eпект 
пDоFеEE4 6оEп8т4=8O 

Ф� № 273 «О5 о5D47о64=88 6  оEE89Eко9 ФедеD4F88» 

!т. 2. ОE=о6=K5 по=Oт8O, 8EполL7у5<K5 6 =4EтоOI5< Ф5д5D4лL=о< 74ко=5 

1) >5@47>64=8е - 98<AO= J9?9A4CD46?9AAO= ?@>FеAA 6>A?8B4=8я 8 >5CGе=8я, 
O6?ONM<=EO B5M9EF69AAB ;A4K<@O@ 5?47B@ < BEGM9EF6?O9@O= 6 <AF9D9E4I 
K9?B69>4, E9@P<, B5M9EF64 < 7BEG84DEF64, 4 F4>:9 EB6B>GCABEFP CD<B5D9F49@OI 
;A4A<=, G@9A<=, A46O>B6, J9AABEFAOI GEF4AB6B>, BCOF4 89OF9?PABEF< < >B@C9F9AJ<< 
BCD989?9AAOI B5N9@4 < E?B:ABEF< 6 J9?OI <AF9??9>FG4?PAB7B, 8GIB6AB-
AD46EF69AAB7B, F6BDK9E>B7B, H<;<K9E>B7B < (<?<) CDBH9EE<BA4?PAB7B D4;6<F<O 
K9?B69>4, G8B6?9F6BD9A<O 97B B5D4;B64F9?PAOI CBFD95ABEF9= < <AF9D9EB6; 
2) 6>A?8B4=8е - 89OF9?PABEFP, A4CD46?9AA4O A4 D4;6<F<9 ?<KABEF<, EB;84A<9 
GE?B6<= 8?O E4@BBCD989?9A<O < EBJ<4?<;4J<< B5GK4NM<IEO A4 BEAB69 
EBJ<B>G?PFGDAOI, 8GIB6AB-AD46EF69AAOI J9AABEF9= < CD<AOFOI 6 DBEE<=E>B@ 
B5M9EF69 CD46<? < ABD@ CB6989A<O 6 <AF9D9E4I K9?B69>4, E9@P<, B5M9EF64 < 
7BEG84DEF64, HBD@<DB64A<9 G B5GK4NM<IEO KG6EF64 C4FD<BF<;@4, 
7D4:84AEF69AABEF<, G64:9A<O > C4@OF< ;4M<FA<>B6 ОF9K9EF64 < CB86<74@ Г9DB96 
ОF9K9EF64, ;4>BAG < CD46BCBDO8>G, K9?B69>G FDG84 < EF4DL9@G CB>B?9A<N, 6;4<@AB7B 
G64:9A<O, 59D9:AB7B BFABL9A<O > >G?PFGDAB@G A4E?98<N < FD48<J<O@ 
@AB7BA4J<BA4?PAB7B A4DB84 РBEE<=E>B= Ф989D4J<<, CD<DB89 < B>DG:4NM9= ED989; 

(C. 2 6 D98. Ф989D4?PAB7B ;4>BA4 BF 31.07.2020 N 304-ФЗ) 

3) >5CGе=8е - J9?9A4CD46?9AAO= CDBJ9EE BD74A<;4J<< 89OF9?PABEF< B5GK4NM<IEO CB 
B6?489A<N ;A4A<O@<, G@9A<O@<, A46O>4@< < >B@C9F9AJ<9=, CD<B5D9F9A<N BCOF4 
89OF9?PABEF<, D4;6<F<N ECBEB5ABEF9=, CD<B5D9F9A<N BCOF4 CD<@9A9A<O ;A4A<= 6 
CB6E98A96AB= :<;A< < HBD@<DB64A<N G B5GK4NM<IEO @BF<64J<< CB?GK9A<O B5D4;B64A<O 
6 F9K9A<9 6E9= :<;A<; 

http://www.consultant.ru/document/cons_doc_LAW_358792/3d0cac60971a511280cbba229d9b6329c07731f7/


Ф� № 273 «О5 о5D47о64=88 6  оEE89Eко9 
ФедеD4F88» 

(6 Dед. ФедеD4лP=о7о 74ко=4 от 31.07.2020 N 304-Ф�) 

10) пD8<5D=4O оE=о6=4O о5D47о64т5лL=4O пDо7D4<<4 - уG55=о-
<5тод8G5Eк4O доку<5=т4F8O (пD8<5D=K9 уG55=K9 пл4=, 
пD8<5D=K9 к4л5=д4D=K9 уG55=K9 7D4D8к, пD8<5D=K5 D45оG85 
пDо7D4<<K уG55=KE пD5д<5то6, куDEо6, д8EF8пл8= (<одул59), 
8=KE ко<по=5=то6, 4 т4к65 6 пD5дуE<отD5==KE =4EтоOI8< 
Ф5д5D4лL=K< 74ко=о< EлуG4OE пD8<еD=4O D45оG4O пDо7D4<<4 
6оEп8т4=8O, пD8<еD=O9 к4ле=д4D=O9 пл4= 6оEп8т4телP=о9 
D45отO), опD5д5лONI4O D5ко<5=ду5<K5 о5J5< 8 Eод5D64=85 
о5D47о64=8O опD5д5л5==о7о уDо6=O 8 (8л8) опD5д5л5==о9 
=4пD46л5==оEт8, пл4=8Dу5<K5 D57улLт4тK оE6о5=8O 
о5D47о64т5лL=о9 пDо7D4<<K, пD8<5D=K5 уEло68O 
о5D47о64т5лL=о9 д5Oт5лL=оEт8, 6клNG4O пD8<5D=K5 D4EG5тK 
=оD<4т86=KE 74тD4т ок474=8O 7оEуд4DEт65==KE уEлу7 по 
D54л874F88 о5D47о64т5лL=о9 пDо7D4<<K;"; 
 



2) Eт4тLN 12 допол=8тL G4EтLN 9.1 Eл5дуNI57о Eод5D64=8O: 
"9.1. �D8<5D=K5 оE=о6=K5 о5I5о5D47о64т5лL=K5 пDо7D4<<K, пD8<5D=K5 о5D47о64т5лL=K5 пDо7D4<<K ED5д=57о 
пDоD5EE8о=4лL=о7о о5D47о64=8O, пD8<5D=K5 о5D47о64т5лL=K5 пDо7D4<<K 6KEH57о о5D47о64=8O (пDо7D4<<K 
54к4л46D84т4 8 пDо7D4<<K Eп5F84л8т5т4) 6клNG4Nт 6 E55O пD8<5D=уN D45оGуN пDо7D4<<у 6оEп8т4=8O 8 пD8<5D=K9 
к4л5=д4D=K9 пл4= 6оEп8т4т5лL=о9 D45отK."; 
3) допол=8тL Eт4тL59 12.1 Eл5дуNI57о Eод5D64=8O: 
  

"!т4тPO 12.1. О5I8е тDе5о64=8O к оD74=874F88 6оEп8т4=8O о5уG4NI8EEO 

  

1. �оEп8т4=85 о5уG4NI8EEO пD8 оE6о5=88 8<8 оE=о6=KE о5D47о64т5лL=KE пDо7D4<< 6 оD74=874F8OE, оEуI5Eт6лONI8E 
о5D47о64т5лL=уN д5Oт5лL=оEтL, оEуI5Eт6лO5тEO =4 оE=о65 6клNG4е<OE 6 о5D47о64телP=уN пDо7D4<<у D45оGе9 
пDо7D4<<O 6оEп8т4=8O 8 к4ле=д4D=о7о пл4=4 6оEп8т4телP=о9 D45отO, D47D454тO64е<OE 8 ут6еD6д4е<OE т4к8<8 
оD74=874F8O<8 E4<оEтоOтелP=о, 5Eл8 8=о5 =5 уEт4=о6л5=о =4EтоOI8< Ф5д5D4лL=K< 74ко=о<. 
2. �оEп8т4=85 о5уG4NI8EEO пD8 оE6о5=88 8<8 оE=о6=KE о5I5о5D47о64т5лL=KE пDо7D4<<, о5D47о64т5лL=KE пDо7D4<< 
ED5д=57о пDоD5EE8о=4лL=о7о о5D47о64=8O, о5D47о64т5лL=KE пDо7D4<< 6KEH57о о5D47о64=8O (пDо7D4<< 54к4л46D84т4 8 
пDо7D4<< Eп5F84л8т5т4) 6 оD74=874F8OE, оEуI5Eт6лONI8E о5D47о64т5лL=уN д5Oт5лL=оEтL, оEуI5Eт6лO5тEO =4 оE=о65 
6клNG45<KE 6 т4к85 о5D47о64т5лL=K5 пDо7D4<<K D45оG59 пDо7D4<<K 6оEп8т4=8O 8 к4л5=д4D=о7о пл4=4 6оEп8т4т5лL=о9 
D45отK, D47D454тK645<KE 8 ут65D6д45<KE E уGето< 6клNG5==KE 6 пD8<5D=K5 о5D47о64т5лL=K5 пDо7D4<<K, ук474==K5 6 
G4Eт8 9.1 Eт4тL8 12 =4EтоOI57о Ф5д5D4лL=о7о 74ко=4, пD8<еD=OE D45оG8E пDо7D4<< 6оEп8т4=8O 8 пD8<5D=KE 
к4л5=д4D=KE пл4=о6 6оEп8т4т5лL=о9 D45отK. 
3. � D47D45отк5 D45оG8E пDо7D4<< 6оEп8т4=8O 8 к4л5=д4D=KE пл4=о6 6оEп8т4т5лL=о9 D45отK 8<5Nт пD46о пD8=8<4тL 
уG4Eт85 ук474==K5 6 G4Eт8 6 Eт4тL8 26 =4EтоOI57о Ф5д5D4лL=о7о 74ко=4 Eо65тK о5уG4NI8EEO, Eо65тK Dод8т5л59, 
пD5дEт468т5лL=K5 оD74=K о5уG4NI8EEO (пD8 8E =4л8G88)."; 
  

4) G4EтL 3 Eт4тL8 30 поEл5 Eло6 "о5D47о64т5лL=о9 оD74=874F88," допол=8тL Eло64<8 "6клNG4O D45оGуN пDо7D4<<у 
6оEп8т4=8O 8 к4л5=д4D=K9 пл4= 6оEп8т4т5лL=о9 D45отK,". 



�D8<еD=4O D45оG4O пDо7D4<<4 по 6оEп8т4=8N 

�D8<5D=4O пDо7D4<<4 6оEп8т4=8O длO доHколL=KE 
о5D47о64т5лL=KE оD74=874F89 8 <5тод8G5Eк85 
D5ко<5=д4F88 к =59 D47D45от4=K И=Eт8туто< 87уG5=8O 
д5тEт64, E5<L8 8 6оEп8т4=8O  АО по 74д4=8N �8=8Eт5DEт64 
пDоE65I5=8O  Ф. 1 8NлO 2021 7од4 пDо7D4<<4 5Kл4 
ут65D6д5=4 =4 74E5д4=88 Ф5д5D4лL=о7о уG55=о-

<5тод8G5Eко7о о5J5д8=5=8O по о5I5<у о5D47о64=8N. 
https://8=Eт8тут6оEп8т4=8O.DD/programmy-vospitaniya/programma-

vospitaniya-dlya-doshkolnykh-obrazovatelnykh-organizatsiy/ 

 

 



Це==оEт8 8 =4пD46ле=8O 6оEп8т4=8O 

 Ц5==оEт8  од8=O 8 пD8DодO л564т 6 оE=о65 
патD8от8GеEко7о =апDа6ле=8я 6оEп8т4=8O. 

 Ц5==оEт8 Gело6ек4, Eе<P8, дDу65O, EотDуд=8G5Eт64 
л564т 6 оE=о65 Eоц8алL=о7о =апDа6ле=8я 6оEп8т4=8O. 

 Ц5==оEтL 7=4=8O л568т 6 оE=о65 по7=а6ателL=о7о 
=апDа6ле=8я 6оEп8т4=8O. 

 Ц5==оEтL 7доDо6PO л568т 6 оE=о65 ф878GеEко7о 8 
о7доDо68телL=о7о =апDа6ле=8я 6оEп8т4=8O. 

 Ц5==оEтL тDуд4 л568т 6 оE=о65 тDудо6о7о 
=апDа6ле=8я 6оEп8т4=8O. 

 Ц5==оEт8 кулPтуDO 8 кD4EотO л564т 6 оE=о65 
Mт8ко-MEтет8GеEко7о =апDа6ле=8я 6оEп8т4=8O. 



«�оEп8т4=8е» 
Eудо6=8к �46уD �ле=4 �8E49ло6=4 


